[ number of missing inner layers | [ number of missing outer layers |

1 Entries 63396 1e Entries 63396
E : : : : + | Mean 0.005111 B : : + | Mean 1.963
r : Std Dev 0.07581 : . |Std Dev 2.518
= i —_ 1 Sl e L ' |
107 : Entries 63396 107 : *TEnties 63396
F Mean 0.005111 F : Mean 1.963
L Std Dev 0.07581 N . Std Dev 2.518

-2 ; : : ] e N eiiiiiiiteiiiii...
10 E 10 E i [Entries 63396
F F ' Mean 1.963
3 I 3 I . |.Std Dev 2.518

10 E 10 —J ey T HE .

10 10

S SOOI PV PR O OO O OO O S SN DUUTE U B T T
. Suanunl || ______________________
: PR

OAQS- ] g 1 N N N N 095- N N N
0 05 115 2 25 3 35 4 45 5 0 5 10 15 20 25

m—— DQM_mKFit_time

| —— DQM_mKkFit_time_b1
mean hil _ pom_BDT mkFit_time

= Entries 63396
] Mean 13.87

Std Dev 5.806
Entries 63396
Mean 13.87
td Dev 5.806
- : : : Entries
12F------ [SRRE bbb rreees Tty oo T 5 Mean
F = : : : : 10°E Std Dev

10

=
T

iy
TTTT] T

0.9%

Entries 14216 r T T Entries 69424
| Mean 2.194 i : : Mean 1.135
Std Dev 6.527 _q . . Std Dev 4.072
: | O i e T i
= Entries 14216 F Entries 69424
lo_z S SR, - S Mean 2.194 N : : Mean 1.135
E N Std Dev 6.527 2 N H Std Dev 4.072
E : g I 10°F ] AR P g l
B Entries 14216 F : : Entries 69424
_ . Mean 2.194 B . Mean 1.135
£c 3 I S I
10 E : Std Dev 6.527 10—3 N T T, L T Std Dev 4.072
E . L . . B
al Y B . . .
107 : : - - - - ;
E : 107 : P | | I
3 R ROy | 11 | i
107F : 107
198 j—— I L I Ly I 1058
‘HHHHHH nr |
0.95 : : : > s 0.95
10 1 10 10 10 10




	Contents
	Page 1


